Important Question Class 7 Hindi Chapter 29 Ugdll, gHRT
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Y-1 BRG-IAT H B A IR 3T BT JHTEAl B THd A2
T — ARI DRI H o &1 T aR &, S 319 BT Gh1aa HR Jahd 3- HieH, ST SR Hf|
UY-2 GG & THY Uisdl 3R HIRal S 1 & YR | HIF 38T Hd A2

SR — DRAI DI JT P YU TR UTT: G2 B X1 BT AT 3R Ti&al B 41 & 3]
oA |

UY-3 Ugd a1 3t ds15 | g5 giifd | Uisdl A 1 9a feran?

SR- Ugd fa7 1 TeTE # Uisa-81 &1 Sl grifel g3 Ul, ITA Yaob dehR UiSd-I1 & TD
YFGgY = G a1 I8! AT & Y G-I i 3R D! BT TIed S|

UY-4 3T $I g Thd ¢ [ 59 5 ° Aol BT BIg Yoo 7e] 78 4T Y12

IR — §1U A §¢ DI ARTI & A fUd1 o 9o ferw | Wi=st 2 /11 T aY b | 7T = IS 61
TA™ foaT| g &1 98 =<0 UfP FRl ¢ foh 9 g © el &1 Pis Jed ol X8 T T

UY-5 Uge fod 31 ds1s H uisdl &t g1 fKfy 7812

ITR- Ugd fad & dars | +ieq 7 uigdl IR U1 gaa foedt o uiga-a1 u_f 3311 iR & 14
o g BT 1| gAY 3fFe & HRUI AT g3 feaTs faan| uied garige & AR fipw & U™
Y| i 3 GRAMR 3R Uiea-TAT HT iR Jem|

UY-6 R 37 &1 Fe1E & Pl &1 =1 f&fy w2

IR — W gRT IQE TP 707 ¥ G SR T edeh] W 91T &l 7T 3R Y R IR T3
g GEHR 3P IR 7 AU P ASTS & TG GeldhR BIA-1 B 3R o TT| SR & g
I D 7 1S 7 TS| 39 foest g8 1 & bR T 3hgT dxah +oq F uisdl U= gHa foear
TR I B0-81d HRaA-I1 58! 3 IRE W gR TS|

UY-7 5 & g a1 uisal = &t ueRi far?

ITR- 3o 7 3T BRI ¥ Tg fban i PRa-I1 b gl HeRe SR 71 38 MW 3 3R
o & ol 981 &R d® g aial Xa1 fhx ot R-Sid &1 P 01 9 81 TabT| Td(d gRI BlS
T4 U o701 A 1S o IR &1 AR R IR & TR S IR 9 §a1 ¥ &1d ®Rd §U 3d ai
J YT WS §UI T9Y HRI-I1 & Fat daTg! Hit|

Y-8 g5aT § Npwr B iy Y AT 3R g S@HR 3o+ 3t 1 ufafehar g5




IR- YitH & DTS T B35 S107 3o Td HHpT b IRR TR MU 3 W HhW i 3R hiYy

3T T | S QT A 71| I514 Ga U &I ARA DI 3| 3 T§ DR 7 X8 1| 3o b
3TUE TR AHWT a0 ACH R U 3 &1 XY gl @il | NHW1 & 59 S J 3fof Iiford gl
33T 3R DHRI-TAT R 98 a9 & THH RT| W BId-81d HRI-IT Jo! §I a8 I R Ta |






